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Fig # 7a (max of 
all 

opportuniti
es or 

randomly 
selected) 

7b (capped 
at actual set, 
or no cap or 
boat cap or 
boat x year 

cap) 

Hierarchy 
(in groups 

or all 
lumped 

together) 

Alternative opportunities.  
ALL = ADJ, ADJ2, OTHER, 

GANSBAAI, ST HELENA BAY, 
EXTRA 

Set 
selection 

% Lost 

B.C. RANDOM CAPPED IN GROUPS ALL ALL 40.52% 
2b RANDOM NO CAP IN GROUPS ALL ALL 23.68% 
2b’ RANDOM NO CAP IN GROUPS ALL >=2008 29.23% 
2b’’ RANDOM BOAT x YEAR 

CAP 
IN GROUPS ALL ALL 24.48% 

2bIII RANDOM BOAT x YEAR 
CAP 

IN GROUPS (All - Gansbaai and Extra) 
Adj, Adj2, Other Island, St 

Helena Bay 

ALL 23.09% 

2bIV MAX BOAT x YEAR 
CAP 

IN GROUPS (All - Gansbaai and Extra) 
Adj, Adj2, Other Island, St 

Helena Bay 

ALL -3.28% 

2bV RANDOM 
WEIGHTED 

BY SETS 

BOAT x YEAR 
CAP 

IN GROUPS (All - Gansbaai and Extra) 
Adj, Adj2, Other Island, St 

Helena Bay 

ALL 9.31% 

2bV’ RANDOM 
WEIGHTED 

BY SETS 

BOAT x YEAR 
CAP 

IN GROUPS Adj, Adj2, Other 
Island, St Helena Bay 

ALL 20.1% 

2bVI RANDOM BOAT x YEAR 
CAP 

LUMPED (All - Gansbaai and Extra) 
Adj, Adj2, Other Island, St 

Helena Bay 

ALL 18.2% 

2bVII MAX BOAT x YEAR 
CAP 

LUMPED (All - Gansbaai and Extra) 
Adj, Adj2, Other Island, St 

Helena Bay 

ALL -15.05% 

2bVIII RANDOM 
WEIGHTED 

BY SETS 

BOAT x YEAR 
CAP 

LUMPED (All - Gansbaai and Extra) 
Adj, Adj2, Other Island, St 

Helena Bay 

ALL 18.11% 
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y = 0.2368x 
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Closure Sum 

Net Closure Loss vs. Closure Sum (Anchovy, West Coast) 

y = 0.2923x 
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Net Closure Loss vs. Closure Sum (Anchovy, West Coast) 

y = 0.2448x 
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Net Closure Loss vs. Closure Sum (Anchovy, West Coast) 



2bIII 
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2bVI 

 

y = 0.2309x 
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Closure Sum 

Net Closure Loss vs. Closure Sum (Anchovy, West Coast) 

y = -0.0328x 
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Closure Sum 

Net Closure Loss vs. Closure Sum (Anchovy, West Coast) 

y = 0.0931x 
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Net Closure Loss vs. Closure Sum (Anchovy, West Coast) 

y = 0.182x 
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Net Closure Loss vs. Closure Sum (Anchovy, West Coast) 



2bVII 

 
2bVIII 

 
 

 

y = -0.1505x 
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Net Closure Loss vs. Closure Sum (Anchovy, West Coast) 

y = 0.1811x 
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Net Closure Loss vs. Closure Sum (Anchovy, West Coast) 


